Passive: Dva seta lakih recenica
Prebacite date recenice iz aktiva u pasiv:
1. Someone will inform the students about the test.

2. We have corrected all the mistakes.

3. Our engineers plan all the elements very carefully.

4. They finished the new road in record time.

5. They are loading the containers on the train.

1   The students completed the project last week.

2. We study all the aspects of the problem in detail . 
3. The secretary will correct all the mistakes.

4. They have answered all the questions.

5. They are planning a new roundabout.

Upotreba veznika 
Dopunite recenice odgovarajucim veznikom 
in spite of, however, as soon as, although, unless, whereas, despite, until, even though, when, 
1. ....................the rain, we still went to the park.

2. ......................................... it was raining, we decided to go for a walk. 

3. ........................................ the fact that it wasn't easy, I finished the homework.

4. ............................................. the restaurant has a good reputation, the food was terrible.

5. I  waited........ .... everyone left the room. Then I left , too. 
6. ................................ .. had I gone to bed than I heard the phone ring.

7. I  played a lot of tennis ................ I was on holiday
8. People in our group did the job early ................................. the people in other groups did not finish on time. 
9. They tried to solve the problem. .................................., they could not find the solution. 
10. You can’t’ open the file ............................. you type know the password. 
Cycling in Copenhagen: 
I Are the following statements about Copenhagen true or false: 

1. In Copenhagen you are not allowed to carry children on your bicycle for safety reasons. 

2. The main reason why Copenhageners ride bicycles is their concern for the environment. 
3. Cycling is the most popular means of transport in the Danish capital. 

4. The quickest and easiest way to get from one part of Copenhagen to another is by bicycle. 

5. Following the example of Copenhagen we can make a more sustainable city. 

6. Cycle tracks in Copenhagen are connected all around the city. 

7. The traffic lights throughout the city are coordinated for cars going at about 50kmh.

8. Not many people ride their bicycles in January. 

9. Snow is removed from the bicycle tracks and from four largest roads at the same time. 

II. Complete the sentences using the following words: 

prefers, ensures, tracks, previously, smooth, access, removal. 

1. A large percent of people in Copenhagen ............................ bicycle as a means of transport. 

2. The whole city is connected with a network of bicycle .....................

3. Riding a bike  ...................... less travel time than going by car or bus. 

4. Snow  ....................... policy in Copenhagen is rather unusual. 

5. ………………the traffic lights were coordinated for cars. 
6. They made ………………………. for bicycles in public spaces a priority. 
>> >>
Faster interchange 

I Dopunite tekst odgovarajucim recima: 

handle, handling, extremely, requirements, devices, gantry, aisles, positioning, technology, conveyers, combined, unveiled, processing, unloading, storage 

Krupp …………………….. details of its fast ………………………. system (FHS)  for improving efficiency in ………………….. terminal operations. 

It uses the latest hydraulic ……………………….., automatic ………………………… and data ………………………..systems. 

FHS incorporates: ………………….. crane handling system for loading and ……………… of trains, …………………………, a high-rack ………………….. system and store handling ………………………..

There are 1 to 6 ………………………. depending on capacity …………………. 

The system is …………………………. fast: it can ……………………… 40 containers in just 15 minutes. 

II Put sentences in the correct sequence: 

- The train enters the FHS (fast handling system). 

-. Units are sent to a high-rack storage system.

- The train leaves the FHS.. 

- The cranes place the units on the conveyor transport system. 

- Units for offloading are identified

- Overhead gantry crane grabs the  containers

- The train collects new units. 

Intermodal transportation 
delivery, backbone, fundamental, destination, chain, freight 
1. The goods arrived to their ……………………….  in London on time. 

2. They studied the intermodal …………………… which included several modes of transport. 

3. Intermodal transportation is the ……………………… of modern world trade. 

4. The use of containers is ……………………………….  for modern transport. 
5. Both people and …………………… can be transported using intermodal chains. 

6. They use trucks for local pick up and ………………………….
Containers
Complete the text with the following words: 

repeated, enhance, safer, accommodate freight, steel, impact, stackable, numerous,  established, devices, reduce, economical, double-stack, 
A container can be defined as a box to carry ………………………. strong enough for ………………. use, usually ………………… and fitted with ……………. for transfer between modes. They are made of ……………………… or aluminum. 

Containers have …………………. advantages in intermodal transportation. They ………………………. loss and damage, save cost and make transfer …………………. and more …………………… 

Containerization has had significant …………………….. on land transportation. Special services have been ……………………………… to enable transportation of containers by long …………………. trains. In addition, terminals have been constructed to …………… loading, unloading and transfer operations. 
